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= _ — SHE|
SA-FH S (3AH) - HRAY - B2 O Ak o8 %Ei HRE2
01 A& HI 3,657,000 1,707,829 1,949,171
OSESAUN SHEHIAY
29,491,935.48% *124m 3,657,000
= 2,560,000
[ 1,097,000
20208 REZ 22 HE(HEH ) +HSY 500,000 0 500,000
401 Al& I 28I 500,000 0 500,000
01 A& HI 500,000 0 500,000
020208 Sx2 2N (WY )+ 8
500,000,000 » 14! 500,000
ZZAE (MHMEH) SSMNUSSES 200,000 0 200,000
401 Al&HI & 28I 200,000 0 200,000
01 A& HI 200,000 0 200,000
OZ B2 (WRH)HBANSZ R
200,000,000& 14 200,000
Z20Xe J2HE-8EY 100,000 0 100,000
401 Al I 28I 100,000 0 100,000
01 A& Hl 100,000 0 100,000
OFBOTOIZHE 2B g
200,000,000 *1 Al x1/2 100,000
1018 ZHEANERX =& 24 50,000 0 50,000
401 AIEHI L 201 50,000 0 50,000
01 A& HI 50,000 0 50,000
OZII0IES 2HHALRN 04422
50,000,000 =14l 50,000
HHSAAY (AL BLTAID)(JIEH/IIE) 20,520 2,600 7,920
Jl23l 20,520 12,600 7,920
2AH J1=2Z| 20,520 12,600 7,920
201 L2l 8,160 4,800 3,360
01 At 2t 2l 8,160 4,800 3,360
OJlggexa 40,000 x17H «12& 8,160
202 odl 8,160 4,800 3,360
01 = LH 4 1l 8,160 4,800 3,360
OJlggexd 40,0003 =17 128 8,160
203 YR =&l 4,200 3,000 1,200
04 EAN2I LRI 4,200 3,000 1,200
OFA 30210l5t 350,000& 128 4,200
NETA(ZELXN LML /NAL A 39,390 0 39,390
MNEXE 2= 39,390 0 39,390




AL FS T AID
NETS(IELT AN /X ALEAI)
NET S PRz

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
AMEXE 2% JI234l 11,350 11,350
201 LBH2d| 5,350 5,350
01 At 2t 2l 5,350 5,350
OIZelH 228 ¢ 400,000& 103l 4,000
O=AERX ¢ 150,000& 9& 1,350
202 O4dl 6,000 6,000
01 SLHAYI 6,000 6,000
OAMEXdLSF=A 20,000& *x3H 100 6,000
2Z0NE FHIAY 28,040 28,040
401 Al HIZ 201 Y] 28,040 28,040
01 A& HI 28,040 28,040
O=UANAIUEX 6,260,000 *44 & 25,040
Ootdd &==9 AHAIN &X
3,000,000& =10 2 3,000




